ZEITEEN

AOSRX  JL—RFA4)IL ©ILITL— Jd—RX FHE=R [H EAT<BT(KH)
START 747 | Player A Index Hdcp Player B Index Hdcp Player C Index Hdcp Player D Index Hdcp
1 700 | 657 | PR E — 3.9 8 Xa FE 3.9 8 g Il 2 8.1 13 EFZEBE 9.6 15
2 zo7 | 704 | A I & 18 5 =W B 4.7 9 #iE @ 6.0 10 =)l £ 8 8.1 13
3 7:14 | 7:11 P RE 4.6 8 E 2 B 4.5 8 X B ¥ — 8.7 13 W B OB X 10.3 15
4 721 | 728 | ST R (& 2.7 6 EMER 4.1 8 AGRH KBS 5.1 9 XK & 82 8.0 13
5 | 728 | 725 | B K § 5.7 10 EX R & 6.5 11 "R X 8.2 13
6 735 | 732 | H) OB Z 5.0 9 B W = 5.5 10 7 B = 7.9 12
7 | 742 | 730 | H 18 0.0 3 A OE X 51 9 NE FF 8.7 13

BUSRX TL—RFAC4)V ILITL— d—X B E=>EUh  {#ERFT<RT(RH)
START 7<#47 | Player A Index Hdcp Player B Index Hdcp Player C Index Hdcp Player D Index Hdcp
1 | 700 | 657 | BR B # 115 14 R B E 127 15 AHE BB 137 16 X M = 13.9 17
2 zo7 | 704 | / B B 127 15  x & 12.9 15 =B X 158 19 e s/ 23.2 28
3 714 | 7:11 Hh # & 11.6 14 A H & 5h 125 15 H $ o & 13.4 16 I & B 24.0 29

F TL—RFA4)V ILITL— d—R EUB=FDE FEATCFT(H)
START F1AD Player A Index Hdcp Player B Index Hdcp Player C Index Hdcp Player D Index Hdcp
1 zoo | &7 | H B & 8.7 13 Bea O 12.5 17 EHB&F 145 20 BEXE F&8 15.3 21
2 zo7 | 704 | Wl I T HE 7.5 11 e FK8 10.4 15 hPEs EE 11.7 16 B H LK 12.0 17
3 714 | 711 | HRH ENKRF 7.3 11 A B = 7.5 11 F W %= 110 16
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